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Fiber 4662, dchi2frac= 1.0

data model residuals
2 2 2
% % ° e
0 - o.; 0- o'; 0 - °
® ® ¢
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 23456738 —2.6-1.5-1.6-0.50.0



Fiber 2453, dchi2frac= 1.0

data model residuals
2 2 2
° ° <
i Vgo O | e 0 i e ©
0 "‘ 0 "‘ 0 %%
° ° o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 2 3 4 5 —0-40-30-20.D0.00.10.2



Fiber 4912, dchi2frac= 0.9

data model residuals
2 2 2
.o
01 o.‘x. 0- ."' 01 % .
® XQ X®
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2.02.53.03.54.0 2.3.38.53.0.5.6.5.0 —-2.61.51.60.50.0



Fiber 2906, dchi2frac= 1.0

data model residuals
2 1 2 2 1
o ® (¢ °
0 ... 0 - ... 0 - X
° o o
)
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 45 6 1 2 3 4 5 6 —1:00:80:-60-40.D.00.2



Fiber 520, dchi2frac= 1.0

data model residuals

2 2 2
(¥ ] ¥ ]

s ° ° bt °

°®
04 @ o4 © 0

"‘rﬂ ‘H\cl C

X X X
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

23456738 2345678 -5-4-3-2-101



Fiber 329, dchi2frac= 1.0

data model residuals
2 2 2
°
ST SR C BT S O R
° ° ®
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.00.2.@2.53.8.%4.0 1.0.2.2.3.3.3.0.5.0-0.6-0.4-0.20.0 0.2 0.4



Fiber 459, dchi2frac= 1.0

data model residuals

2 2 2
° - e
° & 20 [}
i ] l e
0 ‘k:\' 0 ® o 0 %
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2.53.03.54.04.55.0 3.8.51.00.5.6.%.6.5 - 1-2-0-8-6-020.D.4



Fiber 2938, dchi2frac= 1.0

data model residuals
2 2 ° 2
o o °
S X oS
0 1 °® 5° 0 1 o ,° 0 1 o LN
-2 -2 -2
B T T T

2 34567 2 34567 0.00.51.01.52.02.53.0



Fiber 2473, dchi2frac= 1.0

data model residuals
2 ° 2 2 °
o o)
of % o vw o v
-2 - -2 - -2 -

12345678 12 3 456 7 —040.0.00.20.40.60.81.0



Fiber 4840, dchi2frac= 1.0

data model residuals
2 1 2 1 2 1 °
cog® o8 YR
0 A .4 0 A ..’ 0 A «’
-2 -2 -2
B S R S S T

1 2 3 4 5 1 2 3 4 5 —0.3-0.2-0.10.0 0.1



Fiber 749, dchi2frac= 1.0

data model residuals
2 1 2 1 2 1 °
0 0‘ ® 0 - .‘ o 0 - e
og@® ® og® ® ~n® e
-2 -2 -2
B T T T

1.01.52.02.53.03.5 1.0.2.2.3.3.3.6..5.0 —1-600-80-60-40.R.00.2



Fiber 570, dchi2frac= 1.0

data model residuals

2 2 2
| |

0 1 # 0 1 # 0 1
(] (XK

as%° P 3A 3% 8
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 6 123456789 -—-7-6-5-4-3-2-10



Fiber 1281, dchi2frac= 1.0

data model residuals
2 1 X ) 2 - X Y 2 - X
e J". ° J.“
i o0 ] o0 i
0 o 0 0 o

°

-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 23 456 7 2 4 6 8 10 —6-5-4-3-2-10



Fiber 665, dchi2frac= 1.0

data model residuals
2 1 2 2 1
®
o o o
)
o] & o] & 0- 7
x ®® ) X
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2.3.3.3.0.5.6.5.0 3 4 5 6 7 -160.80.60.40.2.0



Fiber 4822, dchi2frac= 1.0

data model residuals
2 2 2
. - ’ e
® 9 e 5
01 “. 01 “. 01 e
° e
-2 -2 - -2 -

1 2 3 4 5 6 1 2 3 4 5 6 -2-10 1

2




Fiber 581, dchi2frac= 1.0

data model residuals
2 1 2 2 1
°
@ [ ® () 0.0
0 - o b ) 0 - () ’. 0 - [ ) b,
o.. *% o..
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1.01.52.02.53.03.54.0 —-030=0.0.0.10.D0.3



Fiber 2613, dchi2frac= 1.0

data model residuals

2 2 2

°
] ® e i Q% e | d
0 q“' 0 q“' 0 .
° e
-2 -2 - -2 -
B T T T

1.01.52.0253.0 1.0.2.2.3.0.3.6.5.0 —1=215506250015902H0



Fiber 2726, dchi2frac= 1.0

data model residuals
2 2 2

4‘ o o.
0 ol oA o] oA

[ ® [ ]

o ° e ©
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1.01.52.02.53.03.5 -0 03®.05.1@.15.2M 25



Fiber 2548, dchi2frac= 1.0

data model residuals

2 2 2
°
0- oy 0- o,’ 0-
X ®

e ° o

K 3 o
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1.01520253.0 1015202530 -0-5040-30-20.0.00.1



Fiber 2599, dchi2frac= 1.0

data model residuals
2 2 2
°
° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.(2.53.8.4.4.5 2 3 4567 —2:52:01:51-00.6.0



Fiber 2248, dchi2frac= 1.0

data model residuals
2 2 2
| () ® i [ @ J o [
o1 el 0] w# |0
~2 -2 - -2 - ¢
-2 0 2 -2 0 2 -2 0 2
o . e ———

1 2 3 456 1 2 3 45 6 -04032.0.00.10.20.3



Fiber 2933, dchi2frac= 0.9

data model residuals

2 2 2
$ $
® € °

0 0 0
°

-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

2 3 4 5 © 2 3 4 5 6 00051.01.52.025



Fiber 2646, dchi2frac= 1.0

data model residuals
2 2 2
01 0'& 01 ‘o % 01 % e
e °
-2 -2 - -2 -
B T T T

1.01.52.02.53.03.5 1.01.52.02.53.03.5 —0-20.D.00.10.20.3



Fiber 4592, dchi2frac= 1.0

data model residuals
2 2 2
° °
0- “3, 0- “3 0- ‘&'
° P °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1.01.52.02.53.03.5 -0.6-0.4-0.20.0 0.2



Fiber 4947, dchi2frac= 1.0

data model residuals
2 2 2
* ey * ey ! Y
0 0 0
C‘.ﬁ’ l‘cﬁ' '..%P
-2 -2 - -2 -
B S R S S T

0O 1 2 3 4 1 2 3 4 5 -06543200.D.2



Fiber 2146, dchi2frac= 1.0

data model residuals
2 2 2
° °
o © ° P
| s | 8 ] LK
0 °e @ 0 X ) 0 PR
° ° °
-2 -2 -2
B S R S S T

1 2 3 456 1 2 3 4 5 6 -—1-0ER0RH0ZBI075



Fiber 289, dchi2frac= 1.0

data model residuals
2 2 2
K2 ¥ 3
0 0 0
° ° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 1 2 3 456 -5-4-3-2-10



Fiber 2276, dchi2frac= 1.0

data model residuals
2 - 2 - 2 -
°
o 8 | 28 | &2
5 ° | N . %
B S e T I

1 2 3 456 123456 7 -08-640.0.0.20.490.6



Fiber 2433, dchi2frac= 1.0

data model residuals
2 2 2
Y Y
®e ‘Qo %
0 A 0 P\ 0 °
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 2 3456 7 -5-4-3-2-10



Fiber 2321, dchi2frac= 1.0

data model residuals

2 2 2
e o ° ® o
° ) CY)

0- :“. 01 :“. 01 ¢ 2%

[ 8 8
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 6 1 2 3 456 —0.6-0.4-0.20.0 0.2



Fiber 4926, dchi2frac= 1.0

data model residuals
2 2 2
< < !
°
0 0 0
o.%‘ o.%‘ e
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1.0.2.2.3.6.54.6t.5 —-12-0:8-6-490.0..2



Fiber 173, dchi2frac= 1.0

data model residuals
2 2 2
® °® ® :
U o%’ 01 o!’ 01 o!’
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 1.0.2.2.3.6.3.4.5.0 -04020.2.9.0.8.0



Fiber 2621, dchi2frac= 1.0

data model residuals
2 2 2
0 .:::. 0 ’=:<o 0 .°..><o
) o ¢ o0 o
-2 - -2 - -2 -
B T T T

1.2.2.3.6.5.6.5.0 1.2.2.3.6.3.60.5.0 -0-543000.D.2



Fiber 2352, dchi2frac= 1.0

data model residuals

)

2 1 2 2 1
$ $ .
i e "o | e "o |® ® "o

o °
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1234567 12345678 —-0.60.40.20.00.2



Fiber 63, dchi2frac= 1.0

data model residuals
2 2 2
¢ ®
Sl S - S R 1
b *® ®,
-2 -2 - -2 -
B T T T

1.01.52.02.53.03.54.0 1.01.52.2.53.03.54.0 —OXEINOINALINIH20



Fiber 913, dchi2frac= 1.0

data model residuals
2 2 2
< K s K i
0 ‘. 0 ‘. 0 ‘.
-2 -2 - -2 -
B T T T

1.01.52.02.53.03.5 1.00253025Q025203500 —-0-0.0.0.10.0.3.9.5



Fiber 2418, dchi2frac= 1.0

data model residuals
2 2 2
®e e %
01 ?o 01 ’o 01 ’o
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.0.2.2.3.68.5.0.5 1.0.2.2.3.6.53.60.5 -0-4933200.0.0.D.3



Fiber 4711, dchi2frac= 1.0

data model residuals
2 2 2 o
of 3% || X | 2%
-2 - -2 - -2 -
B L T S A

1 2 3 4 5 1 2 3 4 5 6 -0643010.D.2.3.4



Fiber 4978, dchi2frac= 1.0

data model residuals
2 1 2 2 1
v 8
0 A ..xz. 0 - :.Xz. 0 A ><V
’. ’..
-2 - -2 - -2 -

1.2530725@025208500 2 3 4 5 6 -4 -3-2-10



Fiber 4521, dchi2frac= 1.0

data model residuals
2 1 2 2 ®
‘s ® ‘s * °s ¢
01 o .x“ 01 o .x‘. 01 o Ux
-2 - -2 - -2 -
B S R S S T

2 3 4 5 6 2 3456 7 -06040.20.0 0.2



Fiber 2974, dchi2frac= 1.0

data model residuals
2 2 2
@0 Y ) ® o
0 o 0 [ J 0 R
?‘ ?’ ) ?‘
Y Y )
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 1.52.02.53.03.5 —0-DID.WO@ED0TBD02 5



Fiber 4643, dchi2frac= 1.0

data model residuals
2 2 2

® ®
ol o %% ol e %% o] e%

o O o ® C

o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.0.2.2.3.6.53.6.5 1 2 3 4 5 -350F0480.6.0



Fiber 2250, dchi2frac= 1.0

data model residuals
2 2 2
L 4 L 4 °
o R, ], | %
CX °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.0.2.23.63@350 1 2 3 4 5 6 7 —-1.5-1.6-0.50.0 0.5



Fiber 23, dchi2frac= 1.0

data model residuals
2 2 2
1 °o & i e 1 o LD
0 ‘ : 0 ‘ ‘. 0 ‘
-2 -2 - -2 -
B S R S S T

1.01520253.0 1.0152.0253.03.5 -160806040.D.0



Fiber 589, dchi2frac= 1.0

data model residuals

2 2 2
. °
- 3 i o i

0 o 0 Jh, 0 -4

@ o o @ X
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 123456789 -7-6-5-4-3-2-10



Fiber 2759, dchi2frac= 1.0

data model residuals
2 - 2 - 2 -
Soq o °q o Soq o
01 .)& 07 )& 01 .)&
-2 -2 -2
2 6 3 2 8 2 2 0 2

23456178 2 3 4 5 6 -1-40.5.00.51.01.52.0



Fiber 867, dchi2frac= 1.0

data model residuals
2 2 2
o] <o8% o] Lo |,
® o ® " x ®
-2 o -2 - o -2 -
-2 0 2 -2 0 2 -2 0 2

2238383845065 2 3 4 5 6 7 -5-4-3-2-10



Fiber 4838, dchi2frac= 1.0

data model residuals
2 2 2

a a’
0 0 0 v

! 4 o © o

C 4 C

-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1 2 3 4 5 -4 -3 -2 -1 0



Fiber 4717, dchi2frac= 1.0

data model residuals
2 2 2
o o0
01 .ok 09 % 01 o %%
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.0253.035 1 2 3 4 5 — 1-502506-[E50Q 8025



Fiber 2549, dchi2frac= 1.0

data model residuals
2 1 2 1 2 1
0 1 ¢ 01 ¢ 0 1 ¢
N 4 e N+
-2 -2 -2
B T T T

1 2 3 4 5 1.0.2.2.3.6.3.4.5.0 -000.D.2.9.9.9.0.7



Fiber 2689, dchi2frac= 1.0

data model residuals
2 2 2
‘;. .;. °
01 %% 01 o%& 0 -
f f ° ()
-2 -2 - -2 -
2 0 & 2 % 2 o
o e e B e —

1 2 3 45 6

1234561738

—-1.5-1.6-0.50.0 0.5



Fiber 918, dchi2frac= 1.0

data model residuals
2 1 ° 2 2 1 °

o ° o
O_ .” 0_ .” 0_ .”

® °

) 4 ) .o
-2 - -2 - -2 -

B T T T

2 3 4 5 6 1.2.2.3.6.3.¢.5.0 -1.60.50.00.51.01.5



Fiber 582, dchi2frac= 1.0

data model residuals
2 2 2
Y ° i
0 - o 0 o 0 - oX
YL Y Y ) )
® L)
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2
—_—

-
2 3 4 5 -065354932200.D.2



Fiber 2200, dchi2frac= 1.0

data model residuals
2 2 2
o
Y °
ol Re o1 R o1 A
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1.0152.0253.0 -0.0.00.10.20.30.4



Fiber 2817, dchi2frac= 1.0

data model residuals
2 2 2
° ° °
. F & ¥ &
01 PN 07 a 07 »
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.0.2.2.3.6.3.6.5.0 1.0.2.2.3.6.53.%#.5.0 -0.4-0.20.00.2 0.4



Fiber 2325, dchi2frac= 1.0

data model residuals
2 2 2
° ° °
) ° °
0 - ® ° 0 ® ® 0 - o & o
R R -
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.0.2.2.3.3.3.@.5 1.0.2.2.3.6.3.45 -6543-210.D.2



Fiber 2846, dchi2frac= 1.0

data model residuals
2 2 2
o0 e
i ° ] ° i
0 % 0 ’. 0 %%
C o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.0253.03.5 1.01.52.025 3.0 -—1-21-00-80-60-40.2.00.2



Fiber 4788, dchi2frac= 0.9

data

model residuals
2 2 2
° °® °
) 4 Y o Y )
0 - LY 4 0 - o &o 0 - o &o
B ° o e %N
-2 -2 - -2 -
B T T T

T
1 2 3 456

1.0.2.2.3.8.51.00.5 -0.5.00.51.01.22.@2.53.0



Fiber 2060, dchi2frac= 1.0

data model residuals
2 2 2
‘e % L
01 -+ %o 0 °9 %6 % " e
-2 - -2 - -2 -
B T T T

1.01.52.02.53.03.%4.0 1.0.2.2.3.3.3.@&.5 -0.60.40.20.00.2



Fiber 4520, dchi2frac= 1.0

data model residuals
2 2 2 P
*o’ *o' )
0 é 0 - é 0 X
C% ° I; ° ®
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 1 2 3 4 5 - 12-0-8-0-020.D.4



Fiber 4903, dchi2frac= 1.0

data model residuals
2 2 2
Se Soe ] e
0 .'.X* 01 ..x* 0 ...x
-2 - -2 - -2 -
B T T T

0.8.0.2.4.4.2.2.2 0.2500253025@0252075 —0.80.60.40.20.00.2



Fiber 242, dchi2frac= 1.0

data model residuals
2 1 2 1 2 1
% % . LR
0- 0:‘. 0 0:‘. 0- :‘.
-2 -2 -2
B T T T

0.00.51.01.52.02.53.0 0.00.51.01.52.@2.53.08.5 —0-40-30-20.0.00.10.2



Fiber 64, dchi2frac= 1.0

data model residuals
2 1 2 2 1 °
°
° ° °
® o e o i
0 0 - 0
4 % oY
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2



Fiber 890, dchi2frac= 1.0

data model residuals
2 o 2 2 °
o )
07 ° oyme 0 X Yo 0 © g me
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 6 1 2 3 4 5 6 -204830603.A.5



Fiber 631, dchi2frac= 1.0

data model residuals
2 2 2
| 3 <
04 g 0- .i o1 g
-2 -2 - -2 -
B T T T

23456178 1.2.2.3.6.38565 0 1 2 3 4 5



Fiber 2414, dchi2frac= 1.0

data model residuals
2 2 2
° )
0 .* 0 1 .* 0 - .*
(] (] (]
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 1.0.2.02.3.8.5.00.5 -1.60.9.00.51.01.5



Fiber 728, dchi2frac= 1.0

data model residuals
2 1 2 1 2 1
0 ’((‘ 0- ’% 0 ..’X
o
-2 -2 -2
B T T T

1.255025@025208500 1.52.02.53.03.54.0 -kX0-8-6-9020.D.4



Fiber 2080, dchi2frac= 1.0

data model residuals
2 o 2 o 2
. ¢ “ ¢
07 t 07 ® t 07 t
°
-2 -2 - -2 -
2 0 2 2 0 2 2 0 2

1 2 3 45 6 —0-40.2.00.20.40.60.8



Fiber 2377, dchi2frac= 1.0

data model residuals
2 1 2 2 1
o ) ° J'.
O' " 0‘ .." O' . X
o
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1 2 3 4 5 — 1-502E0BAB5Mm R D0



Fiber 153, dchi2frac= 1.0

data model residuals
2 2 2
® @ i C
0. L 0- ® oo 0 e
'x.. 'x.. ‘x.‘
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.6.3.8.5.6.5 2 3 4 5 6 —0-60-490.2.00.20.49.6



Fiber 257, dchi2frac= 1.0

data model residuals
2 2 2
° ° °
Y (Y )
ol w0 @ o @
° o °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.(83.54.04.5 1.2.2.83.8.54.00.5 -0.60.40.20.00.20.4



Fiber 4502, dchi2frac= 1.0

data model residuals
2 - 2 - 2 -
% 0’:.3 %7 ot:. % o!:.l
-2 -2 -2
B S e T I

123456789 1 2 3 4 5 6 0.00.51.01.52.02.5



Fiber 484, dchi2frac= 1.0

data model residuals

2 2 2
e
)

o C e

of o &% 0o o &® o{ ©°
N N

X X X

-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 2 34567 —2.6-1.5-1.6-0.50.0



Fiber 462, dchi2frac= 1.0

data model residuals
2 1 2 2 1
o o o
0 1 «® 01 - 0 1 a®®
0oa” 0 ° ea’o
[ ) [ ] ° ) P
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.0 1.01.52.02.53.0 —0.4-0.20.0 0.2 0.4



Fiber 2372, dchi2frac= 1.0

data model residuals
2 2 2

$ ]

o0 e
0 0 0

@ ° " e® X
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1La.2.2.3.68%.085 12 34567 —3+P-R-01-51-0.6.0



Fiber 4545, dchi2frac= 1.0

data model residuals
2 2 2
o @& o @
of Wb o] W o
-24 o -2 - 21 @
-2 0 2 -2 0 2 -2 0 2



Fiber 232, dchi2frac= 1.0

data model residuals
2 1 . 2 . 2 1 ®
.‘ o .‘ [ ) .QJ o
01 % 01 o8 01 8
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 1 2 3 456 —0-80-6040.P.00.20.4



Fiber 2992, dchi2frac= 1.0

data model residuals
2 2 2
° o ™
o
0 3‘# 0 3"-30 0 3"60
-2 -2 - -2 -
B T T T

12345678 123456178 0.00.20.40.60.81.0



Fiber 1167, dchi2frac= 1.0

data model residuals
2 2 o 2 °
0 - g’X. 0 0:’><. 0 - X e
-2 - -2 - -2 -
B T T T
b

0.51.01.52.025 1 2 3 4 5 —-2.526151.60.9.0



Fiber 2538, dchi2frac= 1.0

data model residuals
2 2 2
°
0 "’* o |o- "9i e |o- °3 .
‘: % ‘: % "‘9.
-2 -2 - -2 -
B T T T

2 3 4 5 2 3 4 5 —0.20.10.00.1 0.2



Fiber 218, dchi2frac= 1.0

data model residuals
2 2 2
) ) )
| o P | o9 PY | o% Y )
0 o 0 L 0 (P
o ™ [ I
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.0.2.2.3.3.3.@.5 1 2 3 4 5 -0-20.0.00.10.20.30.4



Fiber 2687, dchi2frac= 1.0

data model residuals
2 2 2
o.‘
0- “‘ 01 “( 0- A
) : 5
-2 -2 -2
B T T T

1 2 3 4 5 1 2 3 4 5 -—1-00-80-60-40.D.00.2



Fiber 226, dchi2frac= 1.0

data model residuals
2 1 2 2 1
o ® ©
0- 'é: 0- ‘é: 0- $o
-2 1 -2 -2
B T T T

0.51.01.52.02.53.03.5 0.51.01.52.02.53.03.5 -—-2.0-1.5-1.0-0.50.0



Fiber 2819, dchi2frac= 1.0

data model residuals
2 2 2
0 - “‘ 0- “. 0 - ‘l‘
° o
~21 L2 L2 ¢
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 1 2 3 4 5 —0.20.10.00.10.2



Fiber 2470, dchi2frac= 1.0

data model residuals
2 - 2 - 2 -
0—00’3 0 33 0—00‘.3
° ° °
-2 - -2 - -2 -
B T T T

1 2 3 45 6 1 2 3 456 -22-0-3-006.0.3.0



Fiber 415, dchi2frac= 1.0

data model residuals
2 2 2
) o
N4 N 4 .. e
@, @, J
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1234567 12345°%67 —3-2-52-01-51-60.6.0



Fiber 126, dchi2frac= 1.0

data model residuals
2 2 2
o o
0- 2“' 0- 2'=0 0- &
) [
-2 - -2 - -2 -
B T T T

1.01.52.02.53.03.5 1.0.2.2.3.8.%4.0 —353-@-5-0-5-0.6.0



Fiber 395, dchi2frac= 1.0

data model residuals
2 2 ° 2
° ®e °
0 o.v 0 - o 0 '3
%’ %’ o“%* .
-2 -2 -2
2 0 2 2 0 2 2 0 2

1 2 3 4 5 1 2 3 4 5 0.00.51.015 2.0



Fiber 2474, dchi2frac= 1.0

data model residuals
2 1 2 2 1
° .. . °
0 A .. 0 - .. 0 A ..&“
[ %Y .O [ S .0 ) L
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.83.B.%.%.5 1.52.02.53.03.54.0 -0-493ID00.D.D.3



Fiber 4829, dchi2frac= 1.0

data model residuals

2 2 2 °
Qe ® o ® e

0 .. o 0 .. () 0 .. o
e e e

e °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 6 1 2 3 456 —040.2.00.20.40.6



Fiber 2739, dchi2frac= 1.0

data model residuals
2 2 2
° o ° e
01 0 - (] 0{ © %e
P v %
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 456 1 2 3 45 6 -03020.10.00.10.2



Fiber 75, dchi2frac= 1.0

data model residuals

2 2 2
o °
] XY | (X ] (X
0 o® 0 o 0 o™

@
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1.0.2.2.3.6.5.6.5 —0-80-6€0-40.0.00.20.4



Fiber 2511, dchi2frac= 1.0

data model residuals
2 2 2
) e o
° ° o ©
0 A .. 04 .. 0 A ..
A A A
-2 -2 -2
B S R S S T

1 2 3 4 5 6 1 2 3 4 5 6 —0.20.0.00.10.20.3



Fiber 141, dchi2frac= 1.0

data model residuals
2 2 2
0- ‘ 01 ‘» 0- “x
LY LY ) °
) 14 ) ®
~2- P 2 - 2 - °®
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.03.5 1 2 3 4 5 30208530605



Fiber 689, dchi2frac= 1.0

data model residuals
2 2 2

§ o g
0 0 0

( o o®

Xr X. X)
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1.2.2.3.6.3.8.5.6.5 23456178 -5-4-3-2-10



Fiber 4796, dchi2frac= 1.0

data model residuals
2 2 2
° °
o® o o® o e
0 ° 0 ® 0 ®
%3 % L, 9%
-2 -2 -2
B T T T

1.0.2.2.3.6.3.¢.5.0 1.0.2.2.3.6.3.8.5.0 —-043=0.0.00.10.D.3



Fiber 948, dchi2frac= 1.0

data model residuals
: o : o : .o
o{ *%, of %, o{ *8,
-2 - -2 - -2 -
B T T T

1.01.52.02.53.03.5 1.01.52.02.53.03.5 -0.0.00.10.20.30.40.5



Fiber 447, dchi2frac= 1.0

data model residuals
2 2 2

° e

o o o
0 - .&. 0 .&. 0 - 0&.

e ° o ° 2 °
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1.01.52.02.53.0 1.01.52.02.53.03.5 -0.4-0.20.0 0.2



Fiber 4566, dchi2frac= 1.0

data model residuals
2 1 2 2 1
® o ® o 1‘ ®
0 “. 0 1 “. 0 A ° X'
( ) ( ] v
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2



Fiber 2686, dchi2frac= 1.0

data model residuals

2 2 2
°

0- u‘i 01 .'ﬁ 01 o X

° °

° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.01.52.02.5 3.0 1 2 3 4 5 6 —-3532X4-50.6.0



